=BHS

TECHNICAL SUPPORT DEPARTMENT

1.877.BHS.4Y0U

M-F 8:00a.m.-5:00p.m.CT

BATTERY HANDLING SYSTEMS (1.877.247.4968) BHS1.com
BE-TS WATER CART RETRO KIT
P/N: 80332005
QTY PART# DESCRIPTION QTY PART# DESCRIPTION
1" BE-WC WATER CART ASSEMBLY 3 E0433 CRIMP CONNECTOR
1" £0202 TRANSFORMER - 1.5 kVA 4** HWO0301 BOLT-SELF TAP "F*-1/4-20 X 1/2"
56™  E0505 16-3 SO CABLE 4 580104 BOLT-SHCS-1/4-20 X 5/8"-SST
1" E1140 CIRCUIT BREAKER - 10 AMP 4 550205 NUT-NILN-1/4-20-SST
2" E0611 4" X2" X 2" JUNCTION BOX g™ SS0300 WASHER-FLAT-1/4"-SAE-SST
1** E0612 JUNCTION BOX COVER 4 HWO0303 BOLT-HHCS-1/4-20 X 1"
6" E0616 1/2" CABLE RESTRAINT 4 HW0104 WASHER-FLAT-1/4"-SAE
6" E0617 1/2" CONDUIT LOCKNUT 4 HWO0003 NUT-NILN-1/4-20-SST
1" E0650 RECEPTACLE - 120VAC 4 HW0402 BOLT-HHCS-3/8-16 X 1"
1 0651 RECEPTACLE COVER 4 HWO0107 WASHER-LOCK-3/8"
3™ E0403 FORK TERMINAL 4 HWO0108 WASHER-FLAT-3/8"-SAE
10 E0603-1 15" TIE WRAPS %% 80332005-i  INSTALLATION INSTRUCTIONS
20 £0602-1 8" TIE WRAPS 1 43839001 ELECTRICAL SCHEMATIC
4 0627 BASE-MOUNTING-TIE WRAP

“ITEMS SHIPPED ASSEMBLED
“* ITEMS NOT SHOWN

©2012, Battery Handling Systems Inc.
St. Louis, MO. All Rights Reserved.

12/12 Rev 0



